4/2018 (1) (M18)
1. Phototropism is
(A) Response of plan towards IFQHI, als
(B) Response of plant towards chemica
(C) Response of plant to gravity
(D) Response of plant to water

Find the missing number in the sequence, r
8, 13, 20, 2, 40, 53

(A) 25
(C) 29

(B) 27
(D) 31

get a weapon called

[A) Agneyastra (B) Asvarishta

\C) Pashupatastra (D) Mrita Sanjivini

4. The distance betwe oints (a. .
AR [__- - b:' are. en the PoInts {ﬂi'_"‘" b}

(A) 2a
C) a

Drona, the‘tee_;cher of Pandayas fought on
. Side during Kuruksh .
(A) Pandav:aas'

——

etra war,

Arjuna with the grace of lord Shiva could

| (B) Dha
. EN
6. Gurgaon digy;i
: ct
the year % Haryana was formed i
(A) 1973 T
(C) 1979 En{ 1966
1995
7. Th :
ﬁur?‘lbiL:Tmﬂ i digit Mber
the digits s 1;2 lﬁi-‘ "eversing e 14 the
number is -1 he digiig diffe bﬂ?" of
(A) 95 or 59 : the
(B) 51o0r1s !
(C) 2B8org2
(D) None of thegg |
p
2.

fliT A o
. M T
\A) =191 ) a7t Ot =y Sierferan

B) W 1 TR Y R
C) T A 3t Dt o whizea
(L) ST 0 3% P oy hifea

2. ZwEen g | |
= ,13,2{3,?,4&53&?@@19@1%
(A) 25 '

(B) 2
() 29 (D) 3:

3. WTEH i o ety
Emﬁ%ﬁ;qmﬁq[ e
(A) aThaTey (B) emwenfre
(C) wIsIwaTEy (D) Ta w=hifaf

4, ﬁg(a~b-}3ﬂt(~a,~b}%ﬁﬁaﬁaﬁ%
(A) J2a (B) 0
(C) a (D) V2(a+h)

5. UISHIH IR AN, et e ¥
1 AU g | —

(A) UTegy
. (B)
(C) =hg (D) =mm

(D) 1995

U 3 mﬁﬁaﬁm 3R 37 61 0 Toery
ST WA T A 154 B | A S w5 atey
4%, T Tem 2

A) 95 or 59
B

) 51o0r15
C) 26 or62
)

(
(
(
(D) T8 9 F15 7
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T 472018 (1) (M1g)
':IEL‘*ﬁﬂL}EFﬂﬁfif:ﬂh moist carbon dioxide In . i wgd wrEA FRATHHIES = Wi "5”3’4 Y

the air 1o torm graen colourad it &t “ﬁ rall #_ TR

(A) Copper oxide (A) FIqL ATFEES

(B) Copper carbonate (B) Hiut wHETIE

(C}) Copper chloride (C) =hiTt FATES

(D) =TT FHETEE

(D) Copper carbide

9. Area of the circle inscribed in a square of | g, 1 2y % e =l B IhiitiE 99

side 1 cm is 2
(A) —Ecmf (B) %cmz (A) gcme (B) Egms
(C) mwem?® (D) 2mcm® l (C) = cm? (D) 2mcm?®
10. The Shivalik Hills are not found in the | 1o, frenfersr =1 TeTleal = forct o
districts of FEf uTE el © |
(A) Ambala (A) ATl
(8) Panchakula (B) e
(C) Sirsa (C) Tawan
(D) Yamunanagar (D) FHATHR
11. Approximately one cusec water is equal to 11. 1 E%Lﬁéﬁ EGASDE L & TS EIA1 & |
(A) 28.317 litre/second (A) 28.317 ©ict /T3
(B) 28.317 litre/minute | (B) 28.317 wiie/fime
(C) 28.317 litre/hour (C) 28.317 &iet /e
(D) 28.317 litre/10 second | (D) 28.317 WX /10 Wehe
12, 19" July was Monday, then 26" July of the | 12. 9fe Qs\ﬁn'é F GHER o1, a1 IE a4
same year was 26 W . a1 |
(A) Wednesday  (B) Tuesday (A) FEER (B) WIEER
(€) Thursday (D) Monday (C) TEam (D) HiHER
13, is the first governor of Haryana. 1 - Eﬁ-q-runa;mw 3 |
(A) Shri B. N. Chakraborty | (A) . 3. w1, g
(B) Shri Dharma Vira (B) 1. v iy
€) ShriR. S. Narula | (C) 4. I, ww, wen
(D) Shri G. D. Tapase (D) . Sft. €. amad)
-3-
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4/2018 [1} (M18)
14, Theriver Yamuna flows onthe ————"2,
boundary of Haryana. T

(A} Eastern

(C) Westem

B) Northert -
(D) Southern

15. The district of Ambala is dependentiaf |
iImgation on |
(A) Tubewells
(B) Canal
(C) Rainfall
(D) Muiti channels

16.

= __ battlefield is also referred a8
Land of Righteousness.' "

(A) Panipath
(B) Kurukshetra |
(C) Mewat |
(D) Kargil

(A) Spices (B) NLIiE
(C) Cabbage (B) Mushrag ‘
18. Read

Downloaded from www.cclchapter.com

14.

13.

16.

17.

18.

R R BRATHL '
EEGi R e
(A) gf (B) I
(A) SIEETE i
(B) &
(C) auf
(D) =ga & =S
. ¥& 9 a5 ofy 2
ST 2 | v
(A) g
(B) Feam
(C) Tamg
(D) =wrRfTsH
% I8 & B =5y
(A) TETEt (B) ﬁ;ﬂq“‘ﬁ%‘
(C) irsft (D) we=H
ﬁﬂﬁ—rﬁaﬁmﬁaﬁ _
E. B ?::j;;:ﬁmmaﬁmmé
. - N 31 7g ¢ 2, saaE
c ::tr%mﬁﬁm;g =
. aqw . s : =T
FHeani 3 ﬁa;:?miz?m -
mwﬁﬁﬁaﬁh%
(A) 3T Tofarehy o
(B) weeiy a5
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19. The battle of pamal
(A) Nadir Sh ah and Shah Alam

was fought between 8 Tl gé. . | 8

r
(B) Nadir Shah and Mohammad Shah | rh | ol
(C) Shah Alam and Mohammad Shah | (C) yITE aﬂ?lﬂm ﬁ'_ﬁma
(D) Nadir Sheh and Aurangzeb ! (D) TfeT YTTE AT

(B) Both convex
(C) Mirror is concave and lens is convex

20. A spherical mirror and thin spherical lens E +25ﬂ1ﬁ% | ﬁnqﬁg
have each of jocal length of + 25 cm. The i 8l ?‘_}{_ﬁ AT R )
mirror and the lens are likely to be L — - SRICEL
(A) Both concave (A) ':HHEIEI
(8) gt 3T

(D} Mirror is convex and lens is concave

21. Raindrops are spherical due to 21, a7fe i @ & SHTL0T T 1] B |
(A) Continuous gvaporation (A) U LGRS CiEsiET )
(B) Viscosity of water (B) W=t #hi T
(C) Air friction (C) aTg EEw

(D) Surface tension of water

22. is used in the manufacture of 22.0% qEg aﬁﬁﬁﬂﬁ e BT e |
?E}mﬁu'ashing soda iy ;ﬁm
(B) Baking soda (B) AT T
(C) Brine (C) o8
(D) Baking powder (D) =R ITaeR

23. The third battle of Panipat was fought | 23, griwa =1 dfiww 72 & B
g 1 7T |
(A) 1761 (B) 1526 (A) 1761 (B) 1526
(C) 1556 (D) 1739 (C) 1556 (D) 1739

24. A corporate entity which wailﬁ_’ﬂf-‘hesf;g‘é' 24. TF FIUNE GeaT 51wy 213 Foyea 1 2 fefer
became 2™ Trillion Dollar public AL : 5
company in the world is mﬁrﬂﬁm W?ﬁqﬂ ERl
(A) Apple (A) T
(B) Amazon (B) =T
(C) Alibaba (C) Tcftama
(D) Walmart (D) aiemE
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4/2018 (1) (M18) a0lS
i throne

25, Who plundered the P8

Jahan ? & 8

© anmadSten (@) AR C) SETIE (D) a1y s

26. Find the numw ﬂ_'hlﬂh is not | i
3 numbers: B 3

{(é}} gg D) 41

ah | g f%m%;maﬁm#{c%m?@? |

iNer 26, mﬁﬁﬁammﬁl
(A) 29 (B) 31

27.  HUHMIRBRS 27. HUHM =7 a7f 2

(A) Haryana Urban Health Mission
(B) "‘ Lipper Heavy Machin

(C) Hagyana Under Honest Mission

(D) Haryana Urban Human Scheme | (D) =i ardy W o

28, .a mittee recommended the | 28 : :
:

astablighment of the scheme "Democratic :
ralisat | il wgfi fhm wfafr

Decentrallsation” in India ?

(A) AShekMehta Committee | (A) 21971 Tear ity
|

(B) BalentRal Committee (B) &vigw o9 wfafy

| (C) GMKRac Commitiee
' (C) it =t .
(D) Gadglfmmitiee ' (C) i1 &, =, vy gfafy

4v/3x? +5xapy7 - | ?'; | 29 SR 4B 4 5x - 23 = 0 Fwer
" | JB, == V3 -2
| R a2

V3 4
(C) 2"\@ (D) V3,2

30. The second battla ¢

]
I |
3

between Hemu ang'
(A) Aurangzeh

(B} Nadir Shah
(C) Akbar

(D) Timur

30. WY 1 TE0 g ¥ i
oIS T | %IL s
(A) 3o
(B) 1T e
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L 42018 (1) (wrg
4 o

~ The idea of residuary powers with the cap | e v i % @y WF?’FE{ iEaer
in Indian Constitution was borrowe| 1rgﬁ; | 31, ﬂmﬁﬂ g ?q;éﬁuﬁf{ﬁ?m T4y |
the Constitution of Gl fgamt — B) |
(A) France (B) Canada (A Hdl ( %;”El
C) Australia D) UK D)
(C) (D) ) st (
32, Which among the districts in Haryana has Wﬁ G forer & T He
highest population density 7 92. g7
(A) Gurgaon (B) Panipat | ent (B) TG
_ | (A) TET |
(C) Faridabad (D) Sirsa (C) wHeEE (D) T
33, If TEST is coded as ‘64 then 'EXAM' | | e a4 R, A1 'EXAM T &
¥ coded as Wi | a9 ;ﬁﬂT EST' @1 %c © %e
(A) 34 (B) 43 '(_A} " (B) 43
(C) 45 (D) 44 (C) 45 (D) 44
34. 50 J of heat is produced each second in | 34, @—5;191%1%1‘%13%3?@*@%350 J FHEHT 394
a 5 2 resistance. The potential difference , 'Eﬁ{ﬁ%’ 1 PGS ﬁﬁ‘ﬂ?ﬂﬂ?%
across the resistor is _
(A) /50 V (B) 40V ,, (A) 50 V (B) 40V
(C) 510 V (D) 105 V (€) 510V (D) 105 V
| . | x
35, In AABC, AB=2.5cm, AC = 10¢cm, 35. AABCH, AB=2.5 #Ht, AC = 10 T,
BC = 4./5 cmthen |B is BC =45 BHi I B B
(A) 120° (B) 60° (A) 120° (B) B0°
(C) B80° (D) 45° (C) 90° (D) 45°
36. In which of the following states the saddle | 38, frferitam i 4 form Tou T Yew S sEiEa & 7
peak is situated ? (A) TR =T
(A) West Bengal (B) ae0 3K FEEr
(B) Andaman and Nicobar ©) e
(C) Goa
(D) Coconut Island (D) I BT g
37. Thari Pension Thare Pass Schemeintroduced | 37. 9T YYH 4R 9T WIS 2015 F AN,
during 2015, with a view to ensure g w0 % i & #) T |
(A) Transparency in pensions (A e A T
(B) Tranaparencylin gwt?rnl'fns;;:;zu;; (B) H&R gitonmt 1 yrefita
_ Sl o _ ; d ;
(C} Transparency In S.Upw 1 A C) TR aTeh g o - s
(D) Transparency in social security ; *ﬂ‘l'qj_ﬁ '?!rﬂﬁiﬁlai
pensions (D) | geen e ¥ Tl
iy P
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4/2018 (1) (M18)
38,

39,

40.

41.

42,

The date of election of the SpEaKE" of
Loksabha is fixed by

(A) Speaker Pro team

(B) Rajyasabha Chalrman

(C) Minister for Parliamentary Affalrs I

(D) None of the above

If the equations 5x + ky = 3and kx + 8y = 3
represent the same line then k =

\A) 1

(B) 5

(C) 3

(D) None of these

Ranjit sagar dam is constructed on which
of the following rivers 7

(A) Ravi (B) Sutlej
(C) Beas (D) Chenab

If 2cosect 30° 4+ XSt B0° — £ tan® 30° = 1p
then value of x is '
(A) 1

(B) 2
C) 3

(D) 4
Tirlya ke Masmaom IS written by
(A)  Altaf Hussain Haali

(B) Amir Khusro

(C) Umrao Jan

(D) Allabaksh

Who among the f::llnwing 8 Known for the

famous quote, "an uncontrol
but to destroy" 7

(A) Leo Tolstoy
(B) John Ruskin
(C) Mahatma Gandhi

led pen Selves,

(D) Swami Vivekanandg

39,

40.

41,

42,

43,

O I

FflOT 6x + ky = 3 3 kx + 5y = 3
A 1G] I WAl € 6l k =

T3 2cosec? 30° + Xsin®60° - s tan?
30° =10 9 x =1 9Ty & '

(A) 1
(C) 3

CVRREE) e
(B) =i ey
(C) wETerT 11hefy

(D) =t R
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owards East and tums
n fums left and

guumnn

Mr. X walks 1 km l

44

and walks 3 km. He agal

ight
- walks 15 kimy Norih,

walks 4 km. Finally n® -
om ihe starling point ?

B) 13 km

How far is he fr

(A) 20 km

(C) 16 km (D) None of these
45. 1f P(E) = 0.45 then probability of ‘not E' is

(A) 0.6 (B) 0.55

(C) 0.5 (D)

Three cubes each of side 1 cm are joined
» g?& 10 end. the surface area of the resulting

solid 1S ,,
(A) 7cm® (B) 14 cm®
(C) 3cm? (D) 8 cm®

47. _ district is famous for light

engineering goods industry.
(A) Ambala (B) Rewari
(C) Faridabad (D) Gurgaon

48. Match the following :

. Jai Jawan Jai 1. Lal Bahadur

Kisan Shastri
Il. Jai Jawan Jai o Atal Bihan
Kisan Jai Vigyan  Vajapayee

IIl. Act East Policy
Rao

IV. Look East policy 4. Narendra Modi
Select the right code !

(A) |-111=211-3IV-4
B) I-1 -2 11-41V-3
C) 1-211-11-31IV-4
D) 1-2 11—1 -4 V-3

49. Complete the analogy.
Video : Cassette : : Computer : ?
(A) Reels (B) Floppy
(C) Recordings (D) Files

3. P. V.Narasimha |

1 .
44 mxﬁ:;ﬁaaﬁﬁlagq'amﬂmfw
:Imﬁa‘lﬁﬁtﬁwfﬁ aﬁ
ﬂaﬂgﬁﬁﬁﬁﬁaﬁ‘?ﬁ%%f
g9 ﬁmﬁ ) 13Tt
i D) T 8 # 7
o o
. ' Zh! W 2
_ 045 g AN
45. Tf}PéE; . (B) 0.55
| 1
©) 05 (D) .
s orer 3 A AT SAEA SF -GS U
46 ﬁmﬂzwgﬁﬂ@aaﬁw%
5 (B) 14 cm?
blm B
o ﬂﬁwﬁwﬁﬁwﬁmﬁﬁ
 gR@d
(#) S @
(C) LTS (D) TsTd
4. TR 1 HETEY
| 519 SIEH 54 1. e SETgL T
feram
|, 59 EH 5 2, wTee Tererd) aremdt
fram v foqe

. @sd w0 A 3. 6. . e T
v. W R A 4, T T

el e g ;

(A) -1 1l-2 -3 1v-4
B) 1=111=2 -4 V-3
C) 1-2 =1 -3 1IV-4
D) 1-211-1 -4 V-3
mr%ﬁz::w:?

(A) T (B) Al
(C) Reiten (D) s
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4/2018 (1) (M18)
50,

31.

S2.

34d.

54,

35.

56.

VAW A v w e i BYER ) [[]]] lm ml |

. (T— ﬁ-—ﬂfﬂ:;ﬂj mﬁ“ﬂlﬂg AR Rl 3 |
-GOVEerTiIt= " -

Fanchayaths ﬂndna should attain A) 20
minimum age that 0 21 ( (D) 18
(A) 20 EE} 18 (C) 24 |
{C} 24 | -3TET tang! %’ qu &R ‘a:lﬁ oy %, i H‘H 5

&, pmeans '+ | 51 gk S W17p16rasgqq.
It hp'h means II:':.F IIQI MGRANS. =ty 435 qQ = 33{&"#1 ﬁR ts.m - )
and 's' means ‘=" then 17 p 161 B (B) 68 |
(A) 51 (B) 68 ©) 17 (D) 69 |
(C) 17 (D) 63 o
C: AT 45T R | i

- il fRrert Y g 31 ST =T
The sum of the ages of _aiather‘?:‘;d h:;ffc'} 52. gﬁ sq'aﬁ]"g;'l'g“ﬂﬁ U 124 o) |93
'S 45 years. Five years ago, nd the : i
Of their ages ﬁin years) was 124. Find LB HTY 3T sl |
Present age of son. - g o s (B) 1099
(A) 9 years (B) 10years " % (D) 599
(C) 15years (D) 5years (C) 15
It 5 is the zero of the palynomial 53. =fa TR f(x) = ax?+ (22 + 1) x — 53 T
E{x):axi+qza+1'}|x-»ﬁthenwalueufais TES5E, Dawm A D
A) = ® = 2 =2
3 5 A 3 B) =
(C) o (D) —as (C) 0 (D) —35
E‘.leha.'ri _f&ir Is held at | | 54, 2Enfh T g E DN RIGH B
(A) Kamg (B) Kalthal (A) T (B) hum
(C) Faridabag (D) Panchakula (C) ‘L‘Eﬂg-mﬁ (D) m
Which of the followi -
o fhe 121,25 Shaken 1o g oenics the | 55, R 8 e ey 4 857 % wom
% Ependanng??a Since 1857 firgy war of =ﬁEE IEIWEIEII %F[qun?ﬂ;? TR Teifes o =
(A) Swadesh; Mﬂuement (A) :ﬁ%ﬂ E'ﬂﬁ?m ' ‘
(B) Home Rule League Movemen;
k. B) T w oy o
\C) Rowlatt Satyagran 3 AT
(D) Mﬂn-ﬁmperatlan Mmrement iC) Ut Mg
9 (D) R ey
her 3 SQiven beloy, © T8I E g ST &
(A) Carrot (B) Potato H s g ‘Fq'ﬁ | ﬁt{ e i .
t My
(C) Tomato (D) Beetrpgt ") (B) 3?{17;-1‘
O T (D) T
-10- . .
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ﬂlllﬂﬂl.lllﬂli 4/2018 (1) (M16)

_IT' Gujan Mahal is located al 4 _ of fel B |
(A) Karmal (B) Hisa | 37, Fﬂﬂﬁir]- () ﬁ!ﬂ”
A) W .
(C) Ambala (D) Panipath :g]) ST (D) Pt
. eidlieki Al Rl - - .ﬁ'ﬂf’ﬂﬂ‘iﬁ}'{ﬁﬁ
8. in Whl-‘?;h ﬂﬂﬁlﬂfl Himalayas do we ling the _ ‘%ﬁﬂﬂ T o &?131 . T;: 3
Eﬁ;ﬁ;&éﬂ?mmhﬂm 8 unique type of S0l 28, mﬂﬁ“ﬁm qmmmﬁ .
(A) North-eastem Himalayas (A) :ﬁﬂ—"['ﬁ firreTd
(B) Eastern Himalayas (B) ;@Fﬁﬁﬁ“ |
(C) Himachal-Uttarakhand Himalayae ©) W_ngﬁmﬂﬂ
(D) Kashmir Himalayas {m it femE
5. The values of x and y satistying the | il 6(ax + by) = 3a + 2b &
equation 6{ax + by) = 3a + 2b and - §(bx - E\_.F][= 9 - 2a aﬁ'g'gﬂ & & e
E(bﬁj‘av}=3b;233r& gaﬁtyﬁi‘ﬂ:ﬁ%
A NS 1
A 2=5Y=3 (M) 5=*%Y=3
B) X=<.y=3 U e
:G: x—i’gy-—:’i % x~§r3’ ’
! — =y el (G} ¥ = El' \-’f - 3
(D) None of these (D) Eﬁﬂﬁqﬁ
§0. Normally, in a healthy adult, the initial fiterate | go. aTETIa: T Y = W, EERL q Wﬁﬁ?ﬂ‘?
i the kidney is about litre/day. S e /afefed = e g ©
(A) 60 (B) 120 (A) 60 (B) 120
(C) 180 (D) 90 (C) 180 (D) 90
§1. The 38" parallel north frequently in news, | 61. 38 ;“f AT I SH-aR gEE W 9,
tisa TE
(A) gzrscl:; line between North Korea and (A) = FiRa ﬁnw%aﬁamw
- (B) Border line between Morth Korea and J (B) St st s et it & s =i
: South Korea _— -
Military exercise between Soulh Korea _ -
% and L?é.ﬂl (©) aﬁwﬁﬁmﬁf{w%ﬁﬁﬁﬂm
(DY Military exercise between Russia and D) wa st T A A B i
- Norih Korea
e 62. AICH TRIfE o s=aw fog
B2. The highest point of Mo Hills is known as i
(A) Karoh Peak (B) Garoh Peak (A) FRIE = (B) TG ?Tﬁ
() TosaPeak (D) GrasherPeak © TwIE (o) Im

A1- P
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. i, TR .,
63.  Fing the missing lattars (7) from e OPlons | 5 * 5 g WYB, FHK, OQT % TeTL i aquy
lor 7, NPS, WYB, FHK, OQT (7) el & |
(A) EGJ (8) DFJ (A) EGJ By B
(C) CEH (D) GIK (C) CEH (D) GIK
B4, Cash reward for Inter caste marrage in | g4, sfmon # LRI ACE]E o T T
Haryana is JUERI g
(A) Rs.10,000 (B) Rs. 50,000 (A) %. 10,000 (B) %. 50,000
(C) Rs.75,000 (D) Rs.1,00,000 (C) . 75,000 (D) %. 1,00,000
63, ;i‘jheze ce.:ri:fhe no ipirh of self—glclw'atnmem 65. "¥f¥ g9 v A foRdlt 3 &t FRE™I © I+
out us, It we take away or allow others T . "
o take from the peasants almost the whole e adbiboihi —%1 o il WR 3
of the results of their labour. Our salvation I T 31 1% WIaAT T8 & | BHT
can only come through the farmer. Neither el 9 o HTEqH | 371 Hehell ¢ Eficic]
the lawyers, nor the doctors, nor the rich 7 faferoeer, 7 & anfrsifer st s A & |
landlords are going to secure it". The I8 yfirg
famous quote Is uttered by P BRI |
(A) Bhagath Singh | (A) wTatEE
(B) Chandrashekhar Azad (B) TR AR
(C) M. K. Gandhi (C) uq. Tief
(D) None of the above Yy
(D) 3 H ¥ FrE TE
66. Which of the following f
g form an AP 7 . T=fafiss © :
(A) 1,1,2,2,3.3, .. - HF H O G Auft FaTd 7

(A) 1,1,2,2,3,3, ...
(B) 0.3,0.33,0.333, ...

(C) v2,2,2V3, 4 .
(D) 9.9+v3,9+243,9+3/3

(B) 0.3,0.33,0.333 _
(C) v2,2,242 4 .
(D) 8,9++3,9+2/3 943/3

67. Haryana government In th
declared that it wil| develop,

© year 2015, | 67. Eﬁwnmr{ﬁaﬁzmsﬁazaﬁaﬁm?ﬁ

as the smart clty, B =5 :; ! TR ¥ w7 i Rrphrm
|
(A) Gur?aﬂﬁ (B) Ambala (A) T
(L) Panipath (D) Thari (C) s aesi
(D) e
68. Which of the followin '
touch Mediterranean iﬁ";i”;”“ e law i“;' E AT R e RIRSHE L
(A) Greece (B) Spain (A) T,ﬁu
(C) Turkey (D) Germany (C) =fF EE) s
) T
P -12-
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_nage the correct meaning of the underlined

U the given options. Idiom

The speaker of the Lok Sabha stirred up
a hornet's nest by referring to the Impending
changes in several rules.

(A) make an untrue story

(B) raise controversy
(C) confused himself
(D) periorm a difficult task

’r" You cannot befool me, as | was not bor
yesterday.
(A) weak
(B) worldly wise

(C) unable to understand
(D) give false hope

Fillin the blanks with suitable articles wherever
Decessary.

71. Ram gave me one rupee note.
(A) Not needed
(B) The
(C) An

| D) A

| . .
| & Heis honour to his profession.

() The

B A

(6) Not needed
D) An

{ En alish |5
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73 wThey could have been delayed by the
" anow". Yes, they —————
(A) could have
(B) cou d be
(C) could been
(D) couldn’t have been

74. The reportis very critical and is clearly
| (A) Intended to (B) Intended to be
(C) Intended (D) Intend to be

Pick out the wrongly spelt word from the given
waords.

75. (A) Villaineous
(B) Transience
(C) Grievance
(D) Receive

76. (A) Etiquette
(B) Lieutenant
(C) Soalliloquy
(D) Bureaucracy

Fill in the blanks with suitable forms of verbs.

77. We
(A) reads
(B) was reading
(C) have been reading
(D) has been reading

(read) since 2 O'clock.

78. Hewill unlock the do

ety or \fvhen he (get)
(A) is Qetting (B) got
©) gets (D) has got
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